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HSC 2002 - Software Design and Development
Question 12

A business uses a payroll program to prepare employee wages. This process involves
entering the name and the number of hours worked for each employee. The payroll
program progressively calculates the amount owing to each employee. When a negative
number is entered for the hours worked, the amount owing to each employee is printed.

To achieve this task, what control structure would be used?

(A) Sequence only
(B) Pre-test repetition
(C) Multiple selection

(D) Post-test repetition
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